BASI DI DATI |

Prova del 6/12/2013

12| |e|x|o|<|o|<|o|o|o|a|u|o|<|ololo|o|<|<|a|a|a|<|<|a|<|w|a|<|a]|a]|a]|a]a|<|<|o|<|<|<|<|<|«
Mﬁ L|lw|lw| ||| |jnjnjlwlo|l<|w|w|luw|jlu|<g|IN|w|CC|w|lw| ||| |||l |<<|lw|<
~|Q |||l |o|on|o|d| ||| (||| << || 0|o|| <o <|C| 0|0 || < << | @
mm <Ol |wlw|lwr|lw|Alojlw|lw|lw|lw|lw|loOojlw|lw|A|lw|o|lAO|w ||| |lo|lo|lun|lwn|l<| a0l Ol |<<|Ol |
“m alo|u|w|ala|lw|<|w|o|w|w]|a|la|lw|ala|lw|alalalo|w|a|lw|w|o|lo|w|w|c|lw|lw|w|o|la|lw|<|w|w|alw]|a
“m || ||| << |<<|O|O|0|w|O|ln|d<|o|lw|lojlu|<| O]Vl <|o|<|O|l<|v- || |lw|lC<lo|luw|mo
ol ;|2 gL o|lo|-H|a|w|(mn|o|lo|a|w|N|-H|O|o|n|o|o|o|mn|o|o|g|(=H||(n|[L (n|[n|o|o|w|w
Aldld|d|N|[N|Z(N|[Z2|N[Z|IN|N[N|dH(N[N|N[M|N|dEH(N|N(N[dHN[dH) | HJH [N NN| N[N N 2N NN - S

©
R = B E A T BT B B BN T S A R Ed B D R E T B S e T N B P o T E =l B B A P R S B T B B B= I S A B BT s
ol Bl Bl E=d Kl B s e ol Il Ed Bl B T B N N Al B N N S A e A k=1 R S F e I I N e S Tl e s A s N k=1 =
2lmlo|RN|m[m|lo|o|lo|N|s|olo|a|[|n|[o(vnIN|NNS S SIS STOIR[N[D]|0|x ||| N|H[ ||| NN
Slolm|g|o|o|N[o|d|V|N|N|IN|[o||O|w|o|o|w|[w|a|o|a|a|lo|o|o|o|o|]|d|d|dd|d|a|[m|m|uv|v|uvn]|n|wn
Gl =1 =] e R Bl B N S L s R S R I Rl R S R R s s s Il S S i i s i i i i i N A i i i R s
S|N|N[F| T[T T[T T T TS T I T T I T T I T T I T T I I T T I T T |

]
mAF_NSI_MD.MFSI_MrrAMARLFCFEAALTLLLACAJLFDEABLMCE

2

oo
waVCPRSMMMSGPTZMGBCMBPCMLCCAASDCDLMDBZACLBTP




BASI DI DATI |

Prova del 6/12/2013

12| |ele|e|o|e|<|u|o|o|<|<|~nfo|o|<|o|<|o|o|a|<|a|<|w|<|w|<|<|<|a]|a|<|a]|a|a|<|o|x|o|<|o|<|~
Mﬁ Wl |<|N|I<uw|lw|lOl<<IN|w-|lu|d<w|<uw|<Oo|l<|w|w || |w|dg|w || <@ |<<|<<|<C| |
me ||| | <O ||| C O]V ||| << ||| <o)< ()<<
”m olo|lwjw|lulo|w|w|w|lw]|lo|lw|lw|w|lc|lw|<|lo|w|o|lo|<|w|w|<|lv]|o]lo|w|w|la|lw|w|w|lalo|w|w|w|o|w|w|w
“m wlo|l<|aolul<|a|lu|lw|ao|lo|a|la|lo|c|lw|o|alo|w|lw|lw|w|lw|l<|lo|lul<|lw|w|lo|lu|a|lu|la|lw|o|lw|w|o|w|w|w
28| |w|w|<|ofu|<|u|w|w|o|<|o|a|a|<|w|o|ajo|<|w|o]o|w|<|o|c|<|oo]|<|v|<|<|o|<|ufw|o|oa|o]|w|w
o|loa(nNnolo|L(L|u|v|[o|lu|n|lm|olo|s|n(a|loja|v|lm(Lo|d|(o|o|oa|o|Ng(vn]|d(a]|o|d|(L|vn|a(m|a (L
dH|N|N|N|m|Z|Z2|d|N||dH(N|([N[dN(a[Na[md|N|N|Z2|0|a|a|o|d|N|N|NNa|NfoafZ(afafa]-=1 2

©
ole(vn|vlalo|n|o|a|mlvlofd|a|N|R|o|a| S| S (n[o|l|m|s|n]|jv|a(Nvunfo|o|a|m|n| S o|alo|vlo|N] 0
Slvn|dla|t|s|g(N|alo|d|d|a|a|NN|N[o]|o|v|n|v|n|lv|lv|lv|S|o|d|d|S|[I|vn|vu|v|lvo|NN|O|d|v|o|n|m
= I B IR B S P DN I I I I ST S B R R R A L e B kot R TRt R =T =T o) sl e el B el Bl B N N e B el e
S(wn|[v(uv|[v|v|v|v|n|n]|o|lo|o|o|~N|o|n|n|cn|cn|w||c|[|w|(o|S|(D|S|D|o|o|o|o|o|o|o|o|o|o|a|o|—|—
R R R R i R R R N R e A e i i i R i i i e e T D D T T T e T e A D D R B R R el )
S| ST T T T T T T T T T T T T T T T I T T T T T T I I I I T T T T T T

]
MCAFDEAEAADDDEGAVFADMAVVGGFVRLLFIDCMSSLLCMGM

2

ao
nwLBPGLRTPPPPPNPBARDDMPIGPBDPMCDPMBDMLMMMLDSO




BASI DI DATI |
Prova del 6/12/2013

11 | 1.2 | 1.3 2 3.1 | 3.2
20 10 10 30 15 15
Cog |Nome| Matricola

G A 451639 21 C D C B F D
Vv D 451645 23 A D F A F D
C A 451941 22 D C D A F D
B S 452236 30 A A A A A A
A A 452996 22 D B B B Z D
B K 461660 29 A D B A A D
C F 462552 27 A C F A A D
M U 465223 18 D F F C F D
A D 465396 22 A C D C F D
B F 465722 30 A A D A A A




